LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

siiga
il 41 281

2021-2022 i) Juadd) dylgs Oloie) dlinf Calad)

I Lesd) = pgle & 2l ) Caall < dul LY zeliad] <& zeliad) 2850

2ol ) i) ey s lain Y] Juolgil) 25150 Ll

elali (e ) Canll slge Ll

lol &l dall) dy | dall do M) dyy il

(Balad) a5 (6S) M) o ad) el o 3

(Lbeal)) a1alill 3amgll o (Sl ol sl 4

idols do>l o doils 5



https://almanahj.com/ae/4science3
https://almanahj.com/ae/4science
https://almanahj.com/ae/4
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade4uae
https://www.facebook.com/grade4uae
http://bit.ly/2wC5tHg
https://t.me/uae4grade_bot
https://bit.ly/2NTxD9O
https://bit.ly/3synIW0
https://bit.ly/3w0QBwc
https://bit.ly/2OY4dYM
https://almanahj.com/ae/id=2292
https://almanahj.com/ae/id=2322
https://almanahj.com/ae/id=2339
https://almanahj.com/ae/id=2352
https://almanahj.com/ae/id=2397
http://www.tcpdf.org

ﬂﬂﬂl_mu“".""..,“ h# l‘l ?_ - <,
1 - § 5

" e - ¥
‘ hﬂ*ﬂh“ﬁ H 5 B




B e

— L gl = St ys = oyl

e

. 1 Jpd
B aen] ~temalro SReE
the movement of 2 plane? | S
thrust e
B T s 10-41
EX} | o
drag |
; —
buoyancy |
| s
iift
2 | -
| I e
LS iy ey e 5 i (e
=
i










Tal-ldﬁaﬂd.ﬁ,ﬂw@uj
|

sl

-

[ |
If you apply the same force fo 8| o o i o i o
larger woight body, the accelerstion s s s g 4 £ Ly
body ~ becomes|  juleaide

of this
weasesnnn..COMPared to a lighter object |




2 |
Which of the following produces ¢ palll 4pun iy 5 a“&
moonlight? _ =]
A Burning gases on the moan ;-iilgh-,bqu..jd
_'___,___-—-—-——';"

Reflection of earth's light on the T A

= moon | gy
B ronectcn T i onpamoon || A 2
Ku-b- S et iy i

@ Reflection of sunlight on the frean S A

‘ Question | M

- S AT e

a3 ™

Wihen does the sun ris 1 the hghes
| point in the sky in the noken

h!mhpheﬂ &
L_um

| June
W

|D|Wr

e




Which of the following increases as

@ When & warm air mass (W&mem@“‘i
= thumnmqu 5

c m"hmmm CF sl ggdl Mwﬂuﬂ,ﬁ;

two air masses stops moving 4n3

when two cold —

D o aanes b OpoA S pls’ Lais |

collide |

Question 14 14 et \

A o iy B e i e

Tulsgd |
 water vapor in the i'_iff_“_’““'f?_____ ]
A ' air temperature | gl Bls B
| | D)
ghumldw negn T 0 L
= ———— e EMEE)
alr pressure I TS o Sy
5 — ’__f_i-_ el e
YE, "wind speed g T

; el .
Whtr'uﬂuﬂ-,.,, T .
water lound) e e
e e
| ..‘-"‘:
.‘ Hlﬂnm .
B iﬂh% f-t-Tr-Hf.
— il o
@ I“M‘"ﬂh‘m e — A
— *ﬂ"-"-ingt....__‘_!,f‘
D | undergroung —
—_— AL e
Question Il 12 __;_.._
Which of the following is sty oy, -
—— Ea o bt
use of water dams?
|
|
|
I
|
I — e o
A | lrrigation | - :
— B - =
B | generat slectricy 2AF
e "..‘h.
| forage ;
- teabe B g2
5"\1 .pﬂ-tgmdl i




